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-~ The following are the two fﬂes you were asked to run -

IR R I8 666 R K 66676636 D6 6 e e 666162661676k
%These 4 lines are in a script file
[t,z]=0DE23('iknowthis', [0 2*p1], [10D);
p1ot(z( D, z(:,2))

~axis(’ squar‘e')

WSS ST S S SR S b AT S S S SR S AN S TS SR 6 Y
- function zdot=iknowthis(t,2z)
%lThese seven Tines are in the file iknowthis.m
S 71 =
.22 =

z2;
z2dot= -z1;

_ zdot=[zldot, z2dot]'; .
R o o6 B d6 D6 6 626626626 J6 6 66D D6 6 H6 K J6 % 666 %6%

This results in the figure shown below...
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- %These 4 lines are in a script file

options=odeset ('RelTol', le-8, 'AbsTol',le-8);

[t,z]=0ODE23 ('iknowthis', [-10 50], [-2 -1]);

plot(z(:,1), z(:,2))

axis ('square')

xlabel ('x');

ylabel('y');

title('Basant Sharma, HW1l, Problem 1(iii)');

LR R Rt R e R R e e e R L e L s LR L L

function zdot=iknowthis(t, z)

% These seven lines are in the file iknowthis.m

zl = 2(1);

z2 = z(2);
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zldot= 1+z2+sin(zl)+cos(22);
z2dot= -2*zl*gin(2*zl);
zdot=[zldot, z2dot]';
L FETEATH LU TIITLILTELLE I RT LIV PAL LTI IELITLLHIILTIHLITIHIISRRL

Z (4 f-# 33-\5'%) N , |

sve )
Neg s R 243 +5%5
R

Basant Sharma, HW1, Problem 1(iii)

= L34
ons

_4{63" Vo' 24| > 34.98°
torﬁ.

Fz= F -.};‘, = 5 (3)+5k
D

f) Voment f‘ﬁ __\‘. about poiat D

'\{".‘DOK 5 Do xf' - -v_‘f lm Xg[ﬂ"'ﬂ‘)f\/
ék"BJ SN

= _& "‘ )Nm
{ A 67 3f<

)Mom&l/d‘ of fo abodt fre axis DC= J:(XpEl)
= J (—Zu mx—— (4(-+3J“57‘)N) JCE“)(@:—%

BJ mx 7 (‘\\4- 3\)—#51(‘)“]

(-lafﬁ +203 k=15 ) Nm.

J ‘s’JE




